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ö£õx AÔÄ 

GENERAL STUDIES 
uõÒ – I 

PAPER – I 

Põ» AÍÄ  : ‰ßÖ ©o ÷|μ®   ö©õzu ©v¨ö£sPÒ : 300 

Duration : 3 Hours                                                 Total Marks : 300  

(CÆÂÚõ&ÂøhzuõÒ öuõS¨¦ 72 £UP[PøÍU öPõskÒÍx) 
(This question-cum answer booklet consists of 72 pages) 

AÔÄøμPÒ/Instructions 

(RÌUPsh AÔÄøμPøÍ Âsn¨£uõμºPÒ uÁÓõ©À ¤ß£ØÓ ÷Ásk®) 

(Candidates shall comply with the following instructions) 

1. Âsn¨£uõμºPÒ, CÆÂÚõ&ÂøhzuõÒ öuõS¨¦ ö©õzu® 72 £UP[PøÍU öPõskÒÍx 

Gß£øu •u¼À EÖv ö\´x öPõÒÍ ÷Ásk®. CzöuõS¨¤À H÷uÝ® SøÓ£õi¸¨¤ß, 

EhÚi¯õP ÷ÁÖ öuõS¨ø£ ÷uºÄU PsPõo¨£õÍ›h® ÷Põ›¨ ö£ØÖU öPõÒÍ ÷Ásk®. 

 Candidates shall first ensure that this question-cum-answer booklet contains 72 pages. 
In case, if any defect is found in this booklet, they can request for replacement from the 
invigilator immediately. 

2. JÆöÁõ¸ ÂÚõÂØS® uÛzuÛ¯õP Âøh GÊxÁuØöPÚ Ch® JxUP¨£mkÒÍx. 

Âsn¨£uõμºPÒ JÆöÁõ¸ ÂÚõÂØS® Âøh¯ÎUP JxUP¨£mh ChzvÀ ©mk÷© 

Âøh¯ÎUP ÷Ásk®. Âøh¯ÎUP JxUP¨£mh ChzvØS öÁÎ÷¯ Gøu²® GÊuUThõx. 

 Space has been provided to write the answer for each question. Candidates have to 
answer the questions only in the space provided for that question. They should not write 
anything outside the space provided.   

3. Âsn¨£uõμºPÒ ÂÚõzuõÎß JÆöÁõ¸ ¤›Â¾® AÔÄÖzu¨£mkÒÍ GsoUøP°»õÚ 

ÂÚõUPÐUS ©mk÷© Âøh¯ÎUP ÷Ásk®. AuØS ªøP¯õÚ GsoUøP°»õÚ 

ÂÚõUPÐUS Âøh¯ÎzuõÀ, JÆöÁõ¸ ¤›Âß •iÂ¾® ªøP¯õÚ GsoUøP°À 

Âøh¯ÎUP¨£mhøÁ PnUQÀ GkzxUöPõÒÍ¨£h ©õmhõx. 

 Candidates should answer as many number of questions as instructed in the question 
paper in each section. If more than the required number of questions are answered, the 
answers written at the end of each section will not be taken into account. 

4. CÆÂÚõ&Âøhz öuõS¨¤À ÂÚõUPÒ uªÌ ©ØÖ® B[Q» ÁiÁ[PÎÀ EÒÍÚ. AøÚzx 

CÚ[PÎ¾® B[Q» ÁiÂÀ uμ¨£mkÒÍ SÔ¨¦P÷Í •iÁõÚøÁ. 

  In this question-cum-answer booklet, questions are in Tamil and English versions. In all 
matters, English version is final. 
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5. Âsn¨£zuõμºPÒ C¢u ÂÚõ&Âøhz öuõS¨¤¼¸¢x G¢uz uõøÍ²® QÈzxÂhU Thõx. 

 Candidates should not tear off any leaves from this question-cum-answer booklet. 

6. Cz÷uºøÁ ö£õÖzuÁøμ, AÇPõP GÊxÁuØPõPÄ®, ¤øÇ°À»õ©À GÊxÁuØPõPÄ® 

uÛ¯õP ©v¨ö£sPÒ JxUP¨£hÂÀø». 

 There is no reservation of marks for neatness of writing and correctness of spelling in 
respect of this examination. 

7. Âsn¨£uõμºPÒ Piu ÁiÂ»õÚ ÂÚõUPÐUS Âøh¯ÎUS® ö£õÊx u[PÍx ö£¯øμ÷¯õ, 

£vöÁsøn÷¯õ GÊuUThõx. u[PÍx ö£¯›À øPö¯õ¨£ªhÄ® AÝ©v°Àø». 

AÆÁõÓõÚ ÂÚõUPÐUS £v»ÎUS®ö£õÊx ÂÚõUPÎÀ SÔ¨¤h¨£mkÒÍ ö£¯º ©ØÖ® 

•PÁ›ø¯÷¯ £¯ß£kzu÷Ásk®. 

   ÂÚõUPÎÀ ö£¯º, •PÁ› BQ¯øÁ SÔ¨¤h¨£hÂÀø»ö¯ÛÀ, ‘AÝ¨¦|º’, 
‘ö£Ö|º’ •PÁ›PÎÀ A B C AÀ»x GUì J´ C\m AÀ»x GUì GUì GUì ÷£õßÓ ö£õx¨ 

ö£¯ºPøÍ ©mk÷© GÊu÷Ásk®. 

 Candidates should not write their name, register number while answering letter type 
questions. Putting signature in their name is also not permitted. To answer such 
questions, the name & address given in the questions alone should be used. 

   If no name is given in the questions, they should write the general names like  
ABC or XYZ or XXX in ‘From’ and ‘To’ addresses. 

TN
PS

C
 - 

SP
EC

IM
EN



 

  DEOM1–19 
[v¸¨¦P/Turn over 

5

A»S — I 

UNIT — I 

¤›Ä — A 

SECTION — A 

 SÔ¨¦ : i) JÆöÁõ¸ ÂÚõÂØS® 150 ö\õØPÐUS ªPõ©À Âøh¯ÎUPÄ®. 

 Note :  Answer not exceeding 150 words each. 

   ii) JÆöÁõ¸ ÂÚõÂØS® £zx ©v¨ö£sPÒ. 

    Each question carries ten marks.          

    iii) öPõkUP¨£mkÒÍ HÊ ÂÚõUPÎÀ GøÁ÷¯Ý® BÖ  ÂÚõUPÐUS ©mk® 

Âøh¯ÎUPÄ®. 

     Answer any six questions out of seven questions.  

(6  10 = 60) 

Q.No. 
1 

C¢v¯õ öuõÈÀ©¯©õUP¨£mhx ¤›miè Bm]°ß öPõøh – ÂÁõu® ö\´P. 

Industrialization of India is one of the benefits of British Rule in India – Argue. 

Âøh / ANSWER 
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Q.No. 
2 

 

÷Á¿º ¦μm]UPõÚ Põμn[PøÍ ÂÁμ©õP GÊxP. 

Elaborate the causes of Vellore Mutiny. 

Âøh / ANSWER 
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Q.No. 
3 

÷u]¯ EnºÄPÐUS μõáõμõ® ÷©õPßμõ´ BØÔ¯ £[QøÚ öÁÎUöPõnºP. 

Bring out the contributions of Raja Ram Mohan Roy to National consciousness. 

Âøh / ANSWER 
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Q.No. 
4 

}vU Pm]°ß ÷|õUP[PÒ ©ØÖ® \õuøÚPøÍ Á›ø\¨£kzvU TÖP. 

Narrate the objectives and the achievements of the Justice party. 

Âøh / ANSWER 
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Q.No. 
5 

ÂU÷hõ›¯õ ©Põμõo ¤μPhÚzvß •UQ¯zxÁzøu ÂÁ›. 

Explain the significance of Queen Victoria's proclamation. 

Âøh / ANSWER 
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Q.No. 
6 

öußÛ¢v¯¨ ¦μm]US Cmka ö\ßÓ Põμn[PøÍ Bμõ´P. 

Examine the causes that led to the South Indian Rebellion. 

Âøh / ANSWER 
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Q.No. 
7 

C¢v¯ \[Pzvß ÷|õUP® ©ØÖ® ö\¯À£õkPøÍ Bμõ´P. 

Examine the objectives and the activities of the Indian Association. 

Âøh / ANSWER 
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¤›Ä — B  

SECTION — B  

 SÔ¨¦ : i) JÆöÁõ¸ ÂÚõÂØS® 250 ö\õØPÐUS ªPõ©À Âøh¯ÎUPÄ®. 

 Note :  Answer not exceeding 250 words each. 

   ii) JÆöÁõ¸ ÂÚõÂØS® £vøÚ¢x ©v¨ö£sPÒ. 

    Each question carries fifteen marks.         

   iii) öPõkUP¨£mkÒÍ BÖ  ÂÚõUPÎÀ GøÁ÷¯Ý® I¢x  ÂÚõUPÐUS 

©mk® Âøh¯ÎUPÄ®. 

    Answer any five  questions out of six questions.  
 (5  15 = 75) 

 

Q.No. 
8 

"ö£sPÎß Âkuø»UPõP, |ÃÚ \‰P ^ºv¸zuÁõvPÒ Gkzu |hÁiUøPPøÍ ÂÁõv. 

Discuss the steps taken by the modern social reformers for the emancipation of 
women. 

Âøh / ANSWER 
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Q.No. 
9 

_÷u] C¯UPzvß SøÓ£õkPøÍ²® •UQ¯zxÁzøu²® ÂÁ›. 

Describe the limitations and significance of the Swadeshi Movement. 

Âøh / ANSWER 
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Q.No. 
10 

•ì½® ½øP Bu›zx Auß ‰»® £õQìuõß E¸ÁõP B[Q÷»¯º Bm] ªP •UQ¯ 

£[PõØÔ¯x – Bμõ´P. 

British backed the Muslim league and played a vital role in the formation of 
Pakistan – Examine. 

Âøh / ANSWER 
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Q.No. 
11 

1857–® Bsk ¦μm]°ß ÷uõÀÂUPõÚ Põμn[PøÍ ÂÁ›. 

Explain the causes for the failure of the Revolt of 1857. 

Âøh / ANSWER 
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Q.No. 
12 

C¢v¯ _u¢vμ¨ ÷£õμõmhzvÀ Ãμ£õsi¯ Pmhö£õ®©Ûß £[QøÚ ©v¨¤kP. 

Evaluate the role of ‘‘Veera Pandya Kattabomman’’ in Indian freedom struggle. 

Âøh / ANSWER 
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Q.No. 
13 

C¢v¯õÂÀ ¦μm]Pμ ÷u]¯ Áõuzvß ÁÍºa]°øÚ ÂÁ›. 

Describe the growth of Revolutionary Nationalism in India. 

Âøh / ANSWER 
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A»S — II 

UNIT — II 

¤›Ä — A 

SECTION — A 

 SÔ¨¦ : i) JÆöÁõ¸ ÂÚõÂØS® 150 ö\õØPÐUS ªPõ©À Âøh¯ÎUPÄ®. 

 Note :  Answer not exceeding 150 words each. 

   ii) JÆöÁõ¸ ÂÚõÂØS® £zx ©v¨ö£sPÒ. 

    Each question carries ten marks.          

    iii) öPõkUP¨£mkÒÍ |õßS ÂÚõUPÎÀ GøÁ÷¯Ý® ‰ßÖ  ÂÚõUPÐUS 

©mk® Âøh¯ÎUPÄ®. 

     Answer any three questions out of four questions.  

(3  10 = 30) 

Q.No. 
14 

RÌUPshøÁPÐUS ©v¨¦U PõsP. 

(A) 












 






 

22
5

21
8

11
6

7
3

 (B) 





 


9
14

16
15

7
3

5
4

 

(C) 






 















 

12
5

5
7

12
3

5
7

 (D) 
5
3

7
3

14
1

7
3

5
2




  

Find the value of the following 

(a) 












 






 

22
5

21
8

11
6

7
3

 (b) 





 


9
14

16
15

7
3

5
4

 

(c) 






 















 

12
5

5
7

12
3

5
7

 (d) 
5
3

7
3

14
1

7
3

5
2




  

Âøh / ANSWER 
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Q.No. 
15 

 

(A) íŸæß u¢øu°ß Á¯uõÚx uØ÷£õx íŸæß Á¯øu¨÷£õÀ ‰ßÖ ©h[PõS®. 

5 Á¸h[PÐUS •ß¦, íŸæß u¢øu°ß Á¯uõÚx A¢÷|μzvÀ í›æß 

Á¯øu¨ ÷£õÀ 4 ©h[S GÛÀ íŸè ©ØÖ® AÁ›ß u¢øu°ß uØ÷£õøu¯ 

Á¯xPøÍU PõsP.  

(B) ‰ßÖ Akzukzu C¯À GsPÎß TkuÀ 3666 GÛÀ AÆöÁsPøÍU PõsP. 

(a) At present Harish's father's age is 3 times Harish's age. 5 Years before, 
 Harish's father's age was 4 times Harish's age at that time. Find the present 
 ages of Harish and his father 

(b) The sum of three consecutive natural numbers is 3666, then find the numbers.

Âøh / ANSWER 
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Q.No. 
16 

(A) |ßS Pø»zx AkUQ¯ 52 ^mkPøÍU öPõsh Pmi¼¸¢x \©Áõ´¨¦ •øÓ°À 

J¸ ^mk GkUP¨£kQÓx. ¤ßÁ¸ÁÚÁØÔØS {PÌuPÄPøÍU PõsP. 

 (i) Gkzu ^mk h¯©sm BP C¸UP 

 (ii) Gkzu ^mk h¯©sm CÀ»õ©À C¸UP 

 (iii)  Gkzu ^mk Hì ^mhõP CÀ»õ©À C¸UP. 

(B) 1 •uÀ 100 Áøμ°»õÚ •Ê GsPÎ¼¸¢x \©Áõ´¨¦ •øÓ°À 

÷uº¢öukUP¨£k® J¸ Gs  

 (i) J¸ •Ê ÁºUP©õP (perfect square) C¸UP  

 (ii) •Ê PÚ©õP CÀ»õ©À (not a cube) C¸UP BQ¯ÚÁØÔß {PÌuPÄPøÍU 

 PõsP.  

(a)  One card is drawn randomly from a well shuffled deck of 52 playing cards. 
Find the probability that the drawn card is  

 (i) a diamond  (ii)  not a diamond (iii)  not an ace 

(b) A number is selected at random from integers 1 to 100. Find the probability 
that it is  

 (i) a perfect square (ii)  not a perfect cube. 
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Âøh / ANSWER 
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Q.No. 
17 

RÌUPsh ö£õ¸mPÐUS 5% »õ£zvØS ÂØ£øÚ Âø»ø¯U PõsP. 

(A) J¸ ªvÁsi  600 US Áõ[P¨£mk  50 Cuμ ö\»ÄPÒ ö\´¯¨£mhõÀ. 

(B) J¸ ¦À öÁmk® ö£õÔ  1,250 Áõ[P¨£mk  100 ÷£õUSÁμzx ö\»Ä 

ö\´¯¨£mhx. 

(C) J¸ ªß Â]Ô  650 US Áõ[P¨£mk  40 £Êx£õºUP¨£mhx. 

Find the selling price (SP) if a profit of 5% is made on: 

(a) a cycle of  600 with  50 as overhead charges 

(b) a lawn mower bought at  1,250 with  100 as transportation charges 

(c) a fan bought for  650 and expenses of  40 made on its repairs. 

Âøh / ANSWER 
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¤›Ä — B  

SECTION — B  

 SÔ¨¦ : i) JÆöÁõ¸ ÂÚõÂØS® 250 ö\õØPÐUS ªPõ©À Âøh¯ÎUPÄ®. 

 Note :  Answer not exceeding 250 words each. 

   ii) JÆöÁõ¸ ÂÚõÂØS® £vøÚ¢x ©v¨ö£sPÒ. 

    Each question carries fifteen marks.         

   iii) öPõkUP¨£mkÒÍ ‰ßÖ  ÂÚõUPÎÀ GøÁ÷¯Ý® Cμsk  ÂÚõUPÐUS 

©mk® Âøh¯ÎUPÄ®. 

    Answer any two  questions out of three questions.  
 (2  15 = 30) 

 

Q.No. 
18 

 

(A) J¸ ø£°À 5 ]Á¨¦ ©ØÖ® ]» }» {Ó¨ £¢xPÒ EÒÍÚ. A¨ø£°¼¸¢x J¸ }» 

{Ó¨ £¢øu Gk¨£uØPõÚ {PÌuPÄ, J¸ ]Á¨¦ {Ó¨£¢øu Gk¨£uØPõÚ 

{PÌuPÂß 3 ©h[S GÛÀ A¨ø£°À EÒÍ }» {Ó¨£¢xPÎß GsoUøPø¯z 

PõsP. 

(B) J¸ \©Áõ´¨¦a ÷\õuøÚ°À J¸ {PÌa] A GßP. AvÀ  

12:7)(:)( APAP GÛÀ )(AP I PõsP. 

(C) 35 ö£õ¸mPÒ Ah[Q¯ öuõS¨¦ JßÔÀ 7 ö£õ¸mPÒ SøÓ£õkøh¯Ú. 

AzöuõS¨¤¼¸¢x  J¸ ö£õ¸Ò \©Áõ´¨¦ •øÓ°À ÷uº¢öukUS® ÷£õx Ax 

SøÓ£õhØÓ ö£õ¸ÍõP C¸¨£uØPõÚ {PÌuPÄ PõsP. 

(a) A bag contains 5 red balls and some blue balls. If the probability of drawing a 
blue ball from the bag is thrice that of drawing a red ball, then find the 
number of blue balls in the bag.  

(b) If A is an event of a random experiment such that 12:7)(:)( APAP  then 
find )(AP  

(c) There are 7 defective items in a sample of 35 items. Find the probability that 
 an item chosen at random is non-defective. 

Âøh / ANSWER 
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Q.No. 
19 

(A)  7,500 US 8% Ámi Ãu® J¸ Á¸h® 6 ©õu[PÐUPõÚ uÛÁmiø¯²® 

öuõøPø¯²® PõsP. 

(B) J¸ SÔ¨¤mh A\»õÚx 8% uÛÁmi ÃuzvÀ GzuøÚ BskPÎÀ ‰ßÖ 

©h[PõS® GÚU PõsP. 

(C) A\À  20,000US 5 BskPÎÀ uÛÁmi  8,000 QøhUQÓx GÛÀ Ámi 

ÃuzøuU PõsP. 

 (a) Find the simple interest and the amount due on  7,500 at 8% per annum for  
 1 year 6 months 

(b) A sum of money triples itself at a simple interest rate 8% per annum over a 
certain time. Find the number of years 

(c) Find the rate at which the sum  20,000 yields the simple interest  8,000 
over 5 years? 

Âøh / ANSWER 
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Q.No. 
20 

(A) J¸ T®¦, J¸ AøμU÷PõÍ® ©ØÖ® J¸ E¸øÍ BQ¯Ú \© Ai¨£μ¨¤øÚU 

öPõskÒÍÚ. T®¤ß E¯μ®, E¸øÍ°ß E¯μzvØS \©©õPÄ®, ÷©¾® 

CÆÄ¯μ® AÁØÔß BμzvØS \©©õPÄ® C¸¢uõÀ C® ‰ßÔß PÚ 

AÍÄPÐUQøh÷¯ EÒÍ ÂQuzøuU PõsP. 

(B) J¸ vs©U ÷PõÍzvß PÚ AÍÄ 7241 
7
1

 P. ö\.« GÛÀ Auß BμzøuU PõsP. 

7
22

(   GßP). 

(C) ug\õÅº ö£õ®ø©ö¯õßÖ AøμU÷PõÍzvß «x T®¦ Cøn¢u ÁiÂÀ EÒÍx. 

 AUPÚ   E¸Ázvß Âmh® ©ØÖ® ö©õzu E¯μ® •øÓ÷¯ 21 ö\.« ©ØÖ® 

 25.5 ö\.«  GÛÀ Auß PÚ AÍøÁU PõsP. 
7
22

(  GÚUöPõÒP).  

(a) A cone , a hemisphere and cylinder have equal bases. If the heights of the cone 
 and the cylinder are equal and are same as the common radius, then find the 
 ratio of their respective volumes. 

(b) If the volume of a solid sphere is 7241 
7
1

 cu.cm.  then find its radius 
7
22

(  ). 

(c) A Thanjavur Toy is in the shape of a cone surmounted on a  hemisphere. If the 
diameter and the total height of the solid are 21 cm and 25.5 cm respectively, 

then find its volume (Take )
7
22

 . 

Âøh / ANSWER 
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A»S — III 

UNIT — III 

¤›Ä — A 

SECTION — A 

 SÔ¨¦ : i) JÆöÁõ¸ ÂÚõÂØS® 150 ö\õØPÐUS ªPõ©À Âøh¯ÎUPÄ®. 

 Note :  Answer not exceeding 150 words each. 

   ii) JÆöÁõ¸ ÂÚõÂØS® £zx ©v¨ö£sPÒ. 

    Each question carries ten marks.          

    iii) öPõkUP¨£mkÒÍ HÊ ÂÚõUPÎÀ GøÁ÷¯Ý® BÖ  ÂÚõUPÐUS ©mk® 

Âøh¯ÎUPÄ®. 

     Answer any six questions out of seven questions.  

(6  10 = 60) 

Q.No. 
21 

μ¨£º ©ØÖ® ]ÀÁº CvÀ G¢u ö£õ¸ÐUS AvP «m]°¯À EÒÍx. ÂÁ›. 

Which material has high elasticity? Rubber or steel. Explain.     

Âøh / ANSWER 
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Q.No. 
22 

 

C¯Ø¤¯À AÍÄPÎÀ ì÷P»º ©ØÖ® öÁUhº–J¨¤kP. 

In physics, compare scalar and vector quantities.                    

Âøh / ANSWER 
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Q.No. 
23 

NO2  Põ¢u Dº¨¦z ußø©²øh¯uõPÄ® {Ó•ÒÍuõPÄ® C¸UQÓx. BÚõÀ 42ON  
Põ¢uÂ»USz ußø©²øh¯uõPÄ® {Ó©ØÓuõPÄ® C¸UQÓx? Hß? 

NO2 is paramagnetic and colourful but 42ON  is diamagnetic and colourless.  
Why?             

Âøh / ANSWER 
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Q.No. 
24 

ÂQua ]øuÄ ÂøÚPÒ ©ØÖ® Cøn ÂQu ÂøÚPøÍ  Euõμn[PÐhß ÂÍUSP. 

÷©¾® 
2

64OS  À Põ¢uP® ©ØÖ® 2KO –À BU]áÛß BU]á÷ÚØÓ GsøÚU PshÔP. 

Explain disproportionation and comproportionation reactions with examples. Also, 
find the oxidation number of sulphur in 2

64OS  and oxygen in 2KO .                             

Âøh / ANSWER 
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Q.No. 
25 

•xöP¾®¦ AØÓøÁPÐUS®, •xöP¾®¦ EÒÍøÁPÐUS® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ?  

Explain in detail the differences between invertebrates and vertebrates.                
            

Âøh / ANSWER 
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Q.No. 
26 

Cμzuzvß £À÷ÁÖ ÁøPPøÍ ÂÁ›zx AÁØÔß •UQ¯zxÁ® £ØÔ SÔ¨¦ GÊx. 

Describe different types of blood groups and add a note on their significance.                
          

Âøh / ANSWER 
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Q.No. 
27 

Â»[S ö\À¼ß ö\À £h»zvß E°›¯À £oPÒ ¯õøÁ? 

What are the biological functions of the cell membrane in an animal cell?   

Âøh / ANSWER 
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¤›Ä — B  

SECTION — B  

 SÔ¨¦ : i) JÆöÁõ¸ ÂÚõÂØS® 250 ö\õØPÐUS ªPõ©À Âøh¯ÎUPÄ®. 

 Note :  Answer not exceeding 250 words each. 

   ii) JÆöÁõ¸ ÂÚõÂØS® £vøÚ¢x ©v¨ö£sPÒ. 

    Each question carries fifteen marks.         

   iii) öPõkUP¨£mkÒÍ |õßS ÂÚõUPÎÀ GøÁ÷¯Ý® ‰ßÖ ÂÚõUPÐUS 

©mk® Âøh¯ÎUPÄ®. 

    Answer any three questions out of four questions.  
 (3  15 = 45) 

 

Q.No. 
28 

 

JÎ Bsk Gß£x JÎ PØøÓ J¸ Á¸hzvÀ PhUS® }Ízvß ©v¨£õS®. AuøÚ JÎ 

Bsi¼¸¢x «mh›ß }ÍzvØS ©õØÔU PnUQkP. 

A light year is a measure of length equal to the distance that light travels in 1 year. 
Compute the conversion factor between light years and meters.                    

Âøh / ANSWER 
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Q.No. 
29 

ªß£SÎPÒ £ØÔ¯ iø£–íUPÀ öPõÒøPø¯ Â›ÁõP ÂÁõvUP. 

Discuss briefly the Debye-Huckel theory of Electrolytes.     

Âøh / ANSWER  
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Q.No. 
30 

E°›£ß©¨ £õxPõ¨¦  GßÓõÀ GßÚ? ÁõÈh¨ ÷£qøP ©ØÖ® ¦ÓÁõÈh¨ ÷£qøP 

•øÓ°À E°º£ß©¨ £õxPõ¨¤øÚ ÂÍUSP. 

What is biodiversity conservation? Explain in-situ and ex-situ methods of 
biodiversity conservation.                                    

Âøh / ANSWER 
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Q.No. 
31 

 

öPõÊ¨¤À Pøμ²® øÁmhªßPÎß EnÄ ‰» Buõμ®, E°›¯À ö\¯ÀPÒ ©ØÖ® 

SøÓ¨£õk ÷|õ´PøÍ £ØÔ ÂÁõvUPÄ®. 

Discuss in detail the dietary sources, biological function and deficiency states of fat 
soluble vitamins.                           

Âøh / ANSWER 
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK 
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